CP131 COMPACT ID HOLDING CLAMPS

M-Countersunk Head Screw

IMAOC

M-Hex. Socket-Head

Cap Screw

E 2
1S €
[a] D max. Ia)
N D min. ) K1
I O-Ring -

1 T
T H T
T} jr
E CP131-A 1S CP131-B
o S
5 &

Jaw Washer O-Ring

SNCM439 steel

Black oxide finished

SCM435 steel
Black oxide finished

Fluoro rubber

HRC33-39
Part Number - D - H H1 M L1 W
min. max. | D min. | D max.
CP131-04001A 8 10.3 5.5 4.6 0.9 M4X0.7 -12L 7.3 2.5
CP131-05001A| 10 12.3 6.4 5.6 1.1 M5X0.8 -15L 9.1 3
CP131-06001A| 12 16.3 8.6 7 1.3 M6X1 -18L 1.2 4
CP131-08001A| 16 22 11.5 9.4 1.6 M8X1.25-25L 16.2 5
CP131-04001B 8 10.3 5.5 4.6 5.1 M4X0.7 -12L 741 3
CP131-05001B| 10 12.3 6.4 5.6 6.2 M5X0.8 -15L 9 4
CP131-06001B| 12 16.3 8.6 7 7.9 M6X1  -18L 10.6 5
CP131-08001B| 16 22 11.5 9.4 10.4 M8X1.25-25L 15.4 6
Clamping Force | Allowable Screw Torque | Weight

Part Number ?kl\%) (N q (gg)
CP131-04001A 0.9 2.1 3
CP131-05001A 1.5 4.3 5
CP131-06001A 2.1 7.3 9
CP131-08001A 4 18 22
CP131-04001B 15 2.7 4
CP131-05001B 2.5 5.4 7
CP131-06001B 5 9.1 11
CP131-08001B 9 25 28






